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The table given below represents the veloc

ﬁ_;masuredinminute’s. T BT T T | -
TS & ‘& manwlet
;M 7R T B (5 B R T W B
% P 8 Bl P g P =

Approximate the value of fh v(t} dtusing a midpoint Riemann Sum. Using
E comrect units of measure, explain what this value epresents.

b. b Whatis thevalue of _(J a(t) dr, and using correct units, explain what this

value represents. o Lo n
a. S? v(DAX 2 \0) a3+ s G‘j
¢

b. At the end of the 60-day period, what is the volume of water that

& cylindrical can of radius 10 millimeters is used to measure rainfall in
Stormville. During the first 5 days of a 60-day period, 3 millimefers of
rainfall had The height cf watez in the can 18 modeled
by the function, 5, where 5(¢) is measured in millimeters and r is
measured in daysfor 5 <t < 60. The rate at which the heightof the
water is rising is given by the function 5'(t) = 2sin(0.03z) + 1.5.

a. Find the value of [ 5'(¢) dr. Using correct units, explain the
meaning of this valuein the context of this problem.

had accumulated in the can? Show your work.
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